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Intro
Today we will 7”pa learn X"0 97 of mn2» noon.

The topics we will learn about include b n N n RD’D

5N DR
One of the ways to become xnv from a n», the body of a
dead person, is when a person is under the same roof as

the dead body, or if he bends over or passes over the dead
oy ' ' DT PP ONX
—— DTR 17192 032010 T2 PR)

DR PP DDR

DR P17 D212 7Y PR

The term 07X refers exclusively to ;77X and not to o). The
term 'R is used when referring to o

If a 105 was ©IRN an NINHR,
or did amR» with a NN,
and then became the 9172 1053,
is he permitted to complete
the marriage

Ifa 17> was ©IR0 an ImOR, or if a 770 did o with a mp,
and then became the %173 1713, is he permitted to complete
the marriage to these women or not?

wYN R M7 WY
OV TwYN N’? amT IwY PRI
An nwy overrides a Twyn RS

But an 7wy does not override a nwy nwyn R nwvn Nl? nn1-r nwl’
I itted t NR?
Isa 1 permitted to marry an s AMT NWY PRI
Is a 172 or 173 j70 permitted to marry a 730p?
OV NYWYN XY

Is a 981 or Jn> permitted
to marry an mn9%R?

IR, is a woman over the age of twenty, who has not
developed as other women do by this age, and is unable to
bear children.

Therefore, an 1R is RN MRTH MV from both D12»

7%5m, which is derived from the words; n’Jf,,R
751 TR

NTOY APRY IPNRY VIO

' 01D, is a man who is unable to have children, and is also 0’10
RMIRTH MO from both 7x°5m 0127, which is derived

from the words;

W I RN

NN VY D0 VIO
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So let's review

Our 97 begins with a Rn»72

IMINORMAY 2 PYPY 127777 191 RN

DAR2 PROLVP PR D210 TNV 3P

The corpse of a 11 does not transmit nxmw through 5ix.
We learn this from the Posuk;

SR M’ D OTR

The nmn uses the term o7x;

And a Posuk in SR says about H5R7w 553;

DIR DTR TPV R IR NN

DR PP DR

DR 1P D220 72 PRI

The term o7R refers exclusively to 7R and not to 0.

However, X127 explains;

5N PIOORD RIP MPOYHT M

RIP IOV M RO VADD

The corpse of a 11 is excluded only from 5ax nxw, but it
does transmit iz through Xwm van - by contact or
carrying it.

The X33 asks that we find Psukim in which o7 are also
referred to as DIN:

The Posuk

9POR WY VW OTR WON

Refers to the captive 0’71 with the term DIx?
Similarly, another Posuk;

DTR 127 7Y D’NWN 1277 72 W TR

PROWS 11 P2 YT R TOR

7127 0

Refers to the o» of my3 with the term o7R?

The X2 answers

nnaoDwn

That 109 only uses the term 07X to distinguish between
the people and the animals. However, it's not a term that is
otherwise used to refer to o).

DafHachaim.org

I WY 3 PR 129 7 91 NN
brIND YRR 13N 22212 M2 2P

L rme >z oo

DIIN @RPIPD IRE VIRE N
P 1P RAE
P JIP PRAD ZY fT
The term pzt refers %o&ow/e/?/ Y
not to pyk

NI'29

N Pann
Np Ry
But it does
transmit NN
through Nwy) LIV

NP WIBPT
HrND M IanND

The corpse of a1
is excluded only
from 5NN nNDW

f?

But pna are also referred to as DTN

qox h S EeN)eh

DRI 5D o 5500 5o R
Tonmis 18 i e N
e o B/ P e
Q%ern’r% ty the o a% 2y with the term pztr”

N2 QYD
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The X2 proceeds to the next 73w which presents 2 cases:
W T VPRI

MINORI IR DR

If a v177 170 performed POIPR with an 735K, which is
permitted,

paarinnlaliapRbiaigh

And he was then appointed to be the %172 j72, who is
forbidden to marry an minoR,

ony

He is permitted to do the prw»1 with her.

The Mishnah records just such an incident:

RO} 12 VWA TV

0IN’2 N2 RNID IR VTPV

5172 372 IrD o M

1o19)

The 2nd case is

VYT 305 YOI D MKW

If a w2 fell to a v 379, who is permitted to marry her
5172 172 I annn

And then he was appointed to be the 5173 173, and now she
is forbidden, because she is an mbHK;

MWRD 72 WYY 0 HY R

Even ifhe already did the 9mxp»,

oY RY MO

He is not permitted to complete the o2

The X713 explains the source for these 017 from the ,0o
regarding a m73 172

JOROP PDYD aPAignlaiEh)

The extra word nwR teaches that he may marry an minbHR
with whom he did yo1r while still a o177 172, However;
02 R WR

This 1 does not apply to a n2.

DafHachaim.org

29 = G5

MIRONT NN DN
1§ eb nab msnn
YAy masnn AR

PAR R ona

YN D DY O f QA’

D19 89 M1

mbBIY Y N

DIN’2 N2 RN NR WTPW
9172 105 NPRH 9omN NN
o

:[? ﬁ))
SN e rabn Soms ox 3

He may marry an y/\/ﬁ
with whom he did el
while still a Grrs» Ves

DN’ 7
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The X2 proceeds to the next 3wn»

PAR DPW 73373

If a Kohen Gadol'’s brother died without children, and his
wife fell to the Kohen Gadol for o2

D27B R YoM

He must perform Chalitzah, but may not perform Yibum.
The X2 points out

POIPRI D RIW RS

PRIVIT 2 RIW RN

Regardless whether she fell to 012’ from only being an
1o1X or from being a nN1w3, the Kohen Gadol may not do
Yibum.

The x93 therefore asks

PRIWIN 0 XDOSWI

NI YN R WY

We understand that if he would do Yibum with a nxw3,
He would be 1219 on the nwy of

TOR MR’ YYD 12N2 DR 7D

And the nTwyn RS of

M RY LR

OV VYN R AT VY PRI

And the nwy of

THY RY DY

Cannot override both an nwyn R 7w,

Therefore, he may not do Yibum.

POIPRA 10 ROR

WYN RS DR 0T WY RY

However, when she was merely an 70198, and therefore
still a n>in3,

The 7wy of 75y X2 2’ should override the mwyn RS of
np’ RS ...M05R, based on the principle of

7OYN RS M7 TOY

Why may he not do Yibum?

The R0 answers

ONWVRI AR AP

IV N2 IOR

The mxzn is only for the first ix°a. Therefore, we do not
allow the first 8>3, lest he do another nx0a.

However, the 5172 175 must do 7x°5m, as the Mishnah taught
on>q97;

JITR OR

5172 1795 MIHR

AN RO N3N

Because X5 271 do not completely exempt from 135

Y = Gpts

VAR DY 9T gD

.. without children

and his, wie fellbto the: Kohen Gadbl for prs

RIW XN
PRIVIN P

JSE1Y9P W YA
272 20 ,e[ DY/ 4

e R
f‘r’p' NB th:

Pain
HN iy
201 0 £ 23 0 piy
LT
o=
o X
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The X2 proceeds to the next 73wn

IR RW? RS OPT 17D

D732 TR W 10 DR ROR

A 175 may not marry an m"n>’R, a woman who has not
developed, and is unable to bear children, unless he has
another wife and children.

The Gemara explains that this Halachah applies to a 5w
as well, because he is equally obligated in the Mitzvah of
AN 0.

AN AT 2T

D12 WR D 0w 0 HY R

IR RY KD

A Kohen should not marry an iR, even if he has
another wife and children, because,

N2 3R IRV

An mn>x has the Halachic status of a 7.

This Halachah, obviously applies to a j75 only.

DI OO

Mt N2 MYV NI NP ROR 7 PR

The o»on hold that the Halachic status of a iy applies
only to a n79mw N3, who we assume cohabited with a
720 DY, or a YR’ who cohabited with a man who is
prohibited to her.

The X2 explains that the source for the opinion of °27
777 that an >R has the ywinHalachic status of a 7 is
from the Posuk in ywir;

WAW R5115IR

13797 RO

We learn from there

870 12 PRY IR D)

M3 NV ROR PR

A nxa that is unable to lead to 1271179 is considered nYva
.

Dedicated By:
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This Halachah applies to a 58w as well,
because he is equally obligated
in the Mitzvah of mam nMo.

QY9RIN 2'1oM ARIN AT 029
I PN '» by AN
NAMEE A RON oo N b e
T RS mopamey RN Re KD
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V9>
o X5 1o
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The X313 proceeds to a related discussion

NIn

IR NYHR 27

10PN DR KW RD 110

A > is forbidden to marry a miop

The xm3 first offers two explanations that are challenged,
and then two explanations that are accepted:

One -

PR1 3179 77> 730

AT 279 79 92,

RO WIAT PRD 170 17D 720

219K 27 holds like 7x» *27 that we must be concerned
even for a v1'», and there is a slight possibility that this
miop will grow up to be a >R

NI 70 TPIDR IORT AT 2270 19 7200

And, 715X 117 holds like 777 °27 that an 'n>’X has the
Halachis status of a na.

Therefore, a 72 may not marry a mvp, because she may
grow up to be an mn»R, and become forbidden to him
because of Zonah.

However, the X3 proves that 71258 17 actually
disagrees with both 7771 227 PR 2.

Therefore, the X)) answers:

JPPOY 9173 1702 R

The ruling of my"5% 37 is that a %173 j7 is forbidden to
marry a mop.

And the reason is,

719 °3p YRS

aPRep

The marriage only takes effect 7mni j» when she
becomes a 717, and by that point,

R 793, and a 173 172 is only permitted to marry a nona.

However X117 challenges this answer:

AR TWTPTOR

1237 NI ROYW R

Ifher father married her off, then she is considered his
wife 79nn 1, immediately, while she is still a mop

WO VTN

And if she married herself

1127 R R RYOR 037 RiT?

It would not only be Rebbe Eliezer’s statement, everyone
would agree?

Dedicated By:
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Therefore the X9m) answers:

N27 PR ROR

OPII IDA M

Rebbe Eliezer's statement is referring to a regular 375, and
he may not marry a mop, because,

15 ANONN RHW 107N

She may be seduced into an 7772.

This concern only applies to a j71>, but not to a S5xw»,
because,

R)77 OIR 7I0P MNO

The seduction of a minor is considered coercion, and an
7O is only 1735 MOR, but SRS M.

The X presents another answer:

AR RO 17

pigpSnen)

Rebbe Eliezer's statement is referring to a 171 173, and he
may not marry a mop, because, Rebbe Eliezer holds like
the X1n who ©"1w7 the Posuk;

TUR MR POV AN

As follows:

o

mop Yy

From the word n%n2 one would think he may marry a
mop?

AR 5 Tnbn, Which excludes a mop

TOR

5y

From the word nwx one would think he may marry a
nma?

192 5 Tbn, which excludes a nna

So we see that a 5173 j72 is forbidden to marry a mop.

The 03 presents another source for the 77 that a %173 372
is only permitted to marry a 73:

The Torah says

WR MR PHYR N3

And the Posuk in the Megillah says

722, TRD AR NIV 7N

So we see that a n>na refers to a 73

The next Mishnah will be included in the next Daf.
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